‘ LL;WE Corrtcled sSoluhion /

+ A Frem problem L | pard &y have
! oM - I -4 o , i 00
\/= ° 0 V =1, o m\oL\rA\/: 020
© 1o 0 1 o 0 2
A
So e tA \/ 4 hic s \ncorrect. ‘-:':tA = \/e-w\ \V -\

teyqlfete o I 4 o
e"*{ovl [" ezro& 0o |
o1a|lP o & 61lo

{ »
*t;\e‘g 0‘::“‘ Vv (.Sec aext roae) _
/’r t 4
f’e?}aCe - e Y ez
Hais vV o - 6+A
! o+

Sttt (a»hﬂ A loo _ [V-l A:oo \/},Ms s ncomech A90= Y AP

(check WIS in

hence Whactah)

A(OO'—'

L
For A= (;3 ;] (paw-\- b) we Can Jus-\— «:-c e defiaihmn
LN T (A P A S DA P

A = ) b] is 15 1acaprect
henee i" [lﬂizmﬁi oddihow mstake) 4 | 1t
+hiis shhould be o 1. e - o |




LAV toy et et

. 0 et Ue-yet o
:o \ o o e'l'l- = o elt o
to a 24 o
€ o e?‘t’
oo | 10H Ve ° ] -4 o
A =] s0 o 2% 4 o o |
(G ] I Q 53 o 2'00 o) , o
Aloe = [I o4 1 =4 o | 4.2'°-4 o
o ©o 1 o [2-1° a joo
1 o o Sggo 2 B 0 2 (=
(] o zlou

Thise are e cope ot onswere o prblem 2a,



